4.1 Chord Theorems.notebook March 02, 2020

In the circle shown, BC is the diameter and
the mAB = 120°. What is the mzABC?

A5 x>

C. 60° D. 120°
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Chord Properties
and @

Segments Lengths
INn Circles
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If two chords are
conatwnt , then their
corresponding awv s
Are _Conayuwent
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Solve for x.

8x -7 33X+ 3

Ox-7=3x +3 _
=% -’;f X’

5% -7:= 3
47+

Sx= [
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FInd the length of WX.
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100°
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Find mAB

3 O

-\

2 O

22, (0]
=2_(130
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If two chords are
Conayruanty |, then they
Are eamidistant

from the center.
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INn ®H, IS = PN, mTH = 3x — 11,
aond mEH = 4x — 31. Whatis the
value of x¢

5% = {x~3)
= glf >

W =X -3)
+3) +731

|20 = x )
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In ®U, Uis the midpoint of OR. If
TY = -3x + 56 and SD = 4x, find the
length of TY.
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If a diameter is_P-ef @eNAMUAN
(Mmakes a right angle) to a chord,
then it also BAS4<YS (cuts in half)
the chord.

This also results in C.ov\g(ww\- qarcs .

A right friangle can also be formed so

you may have to use the 1y _ %
Othewo fean, Tweoremn A tb C.
- A &

10
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IN®I, 0C = KC.If UK=2x+ 3
and UQ = 4x, find x.

11
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In ®H, if HY 1 MT,mHA = 6,

and mHT = 10, find mMT.
a+8 =T

o + (;‘ = 1D

O\’L'l' 3(9 = 1O
-3 -30L

T \ro("_-va"‘
a=9D

@T=19

12
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FINnd ’rhe length of LI\I

L

O -\~\'>
A+ = 60
o+ \ab 22500
—\AL —(qb

\roe’ :ﬁ%b“

(= 48)

14
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Properties of Chords

Use the following image for problems 1and 2.

A

e O
y AN
S
|’ N

YB

!
\
D - _|—'c

— 7

1.If mAB = 100°, what is mDC?
100
2.If mAB = 67° and mBC = 35°. What is the mAD?

1y °

Use the following image for questions 3 and 4.

D

B

3.1f €D ~ AB, mEG = 12 yd., what is the mEF?

Ly

A fEG = EF and mAB = 24 m, what is the mCD?

8 .

Use the following image for questions 5 and 6.

5. 1f mAB = 98°, mAB = 14 ft. and mCD = 98¢,

what is the m€D?
14

6. if mAB = mCD, mAC = 104°,and mBD = 100°

what is the mAB? -78 (Y

March 02, 2020

Name Date

7. How could you determine thatBE 2 €D in the
following image? B

\E€ chovids are
&, dventuis
o~

arctd are = E D
Use the following image for the problems 8, 9 and 10.

8. If mDB = 92°, what is mDC?

2 4= \¥Y
we

9. f the mOE = 10 em and m0OA = 15 cm, what is the

mBE?
5 evn
10. If mAB = 10 in. , mEB = 2 in., what is the mDE?
dinrmeS 32 Q,g‘g- W

folivy, §in a+Ba2s \o2
b= o

Use the following image for problems 11, 12 and 13.

11.1f mPQ = 15 in., what is the mRB? s

Revp.bisedor 2

12. f mPQ = 90°, mQS = 140°, what is the mRP"

365 4o

- 190
=140

13. If mOB = 10 cm and mAQ = 24 cm, what is m0Q?

(note: OQis not drawn, but you may draw it in.)

c” Xs

G+t
QQ=1h )

0%+ 24 =

15
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Properties of Chords

Use the following image for problems 14 and 15.
A

NN

14.If mAB = 2x + 27 and mDC = 4x — 39 What is

the value of x? LX" 1_-7 - q$_,,.\

tx:33‘

15.If mAB = 67° and mAD = 135°. What is the

2
Use the followifig image for questions 16-18.

March 02, 2020

Name Date

19. How could you deFrmine that BE = CD in the

following image? = B
(@pﬁ” / c
6'5 <C = /
9 3

Use the following image for the problems 20-22.

20.If mDB = 14x — 12 and mCB = 2x + 36, what is

: ° (CE=am)

B
16.1f CD =~ AB, mEG=x+9,andmEF =9x—7
i ?
What is the value of X7 A*ﬂ = ﬂ&_"'

JX
X =L

‘I?imﬁ = 10x + 2 and mBF = 8x + 8, what is the
2B (ORTL = InkD

100542292 )

18.IfEG = EF and m€D = 4x + 15 and

mAB = 6x — 21, what is the value of x?

4 x\S - Gr-2\

*=13 )

mDC? My -1 =2 2x 456
B2 3
21. e radius Of the circlgyls 1 nd mIE = 12m,
what is the moE? 0\1‘\")@ ° ‘BE'L
124 2 1S
b =%\
b =29

22 1f mOE =5 and m0A = 13, what is the mDC?

%ﬂﬂ 9C=10£ké9

Use the following image for problems 23 and 24.
()

S

23 If mPQ = 5x + 2 and mRS = 3x + 12 what is the

mRE? SRATL= bVl

Mg_5-:3 (5)";(--:'?7 2 $o

24 1f mPQ = 87°, mRP = 43%and mQS = 7x + 3

hat is the value of 2
L R U T T
- 87
- 97
-lu|3

W
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